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(-6 —9= £ 0=
3+ (-3) = (—4) D — (-1) =
72 _ 0= 6D+ 1=
(6 = (-7 = (-10)* — (-7) -
DT —(-8) = 6 —7—
10°+9= (~10) 2 +7 =
(2" +10= 10° 4 =
2> —(-10) = 7D 1 (~6) =
(80 +6= (=7)° = (-3)=
3+ 1= ()P —(—4) =
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A HICG:_ A37:
(—6)* —9 =27 4 -2=14

P (3)=6 4P - (D)= = 1
709 —10 = (—%) = (—9% (-6 +1= i—g = 1%
(—6) = (-7) = % = 7% (—10)2 — (=7) = 107
D= (=8)=9 (=6)" =7 = (~6)

10> +9 =109 (-10)2 +7 = % = 7&
D +10= 3 =95 100 - 4= (-3)

22— (~10) = 14 77D +(-6) = (—g) = (—Sg)
(-8)7V+6= %7 - 5% =7’ = (-3)=4
3412 (4D~ ()= = 4
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